>

>

vvalue = {VO = 1} :

plot(subs(paraunion vvalue, n1), x=-1.5..1.5, 0..0.5);
plot(subs(paraunion vvalue, n2), x=-1.5..1.5, 0..0.5);
pl = plot(subs(paraunion vvalue, n1), x=-1.5..0, 0..0.5) :
p2 = plot(subs(paraunion vvalue, n2), x=-0..1.1, 0..0.5) :
plots| display|(p1, p2);
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> wvalue := {VO = 0.1} :

pl = plot(subs(paraunion vvalue, n1), x=-1.5..0, 0..
p2 = plot(subs(paraunion vvalue, n2), x=-0..1.1, 0..

PP1 = plots| display](pl, p2) :
> wvalue = {V,=0.5}:

pl = plot(subs(paraunion vvalue, n1), x=-1.5..0, 0..
p2 = plot(subs(paraunion vvalue, n2), x=-0..1.1, 0..

PP?2 := plots| display|(pl, p2) :
> wvalue := {VO = 0.75}:

pl = plot(subs(paraunion vvalue, n1), x=-1.5..0, 0..
p2 = plot(subs(paraunion vvalue, n2), x=-0..1.1, 0..

PP3 := plots| display|(pl, p2) :
vvalue := {(Vo=1}:

pl = plot(subs(paraunion vvalue, n1), x=-1.5..0, 0..
p2 = plot(subs(paraunion vvalue, n2), x=-0..1.1, 0..

PpP4 := plots| display](pl, p2) :
plots| display|(PP1, PP2, PP3, PP4);
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» 2
_Pokh (R _p_m.hZJJ.(l.ﬁ_+(ij ]]
fitag, | 2 Y 2 phi 9>

> plot(subs(pamunion {po =1, k= 1}, F), V= 0..1.1);

> F:
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